P PUREFIRE®

[ ) PF-50, PF-80, PF-110 & PF-140
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

"\e

PF-50, PF-80, PF-110 & PF-140

4 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



) PUREFIRE®

[ ) PF-50, PF-80, PF-110 & PF-140
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-50, PF-80, PF-110 & PF-140

Descripti Quantity Stock Trade
escription Requi .
equired Code Price
1 Front Door Panel with Ball Studs 1 54168 $171
2 Control Lens 1 54167 $58
3 Display Module Revision 2 852RC-3R 1 54423 $314
4 Display Bracket Gasket 1 54153 $21
5 Bracket for Display Module 1 PF2007-1 $10
6 Hex Nut, #6-32 with Lockwasher 2 51553 $1
7 Screw, #6-32 x 1/2" LG Phillips Head 2 5449 $1
8 Flexible Gas Line — 1/2" (includes gasket and hardware) 1 54203 $60
9 Gasket for Gas Line 1 54142 $7
10 Nipple, 1" NPT x Close 1 99211 $2
11 Manual Shut-off Valve, 1/2" NPT 1 54130 $24
12 Screw, #10 x 1/2" Long Hex. Hd. 2 99992 $1
13 Coupling, 1" NPT Brass 2 5534 $12
14 Nipple, 1" NPT x 6" Long Brass 2 5533 $19
15 Jacket Side Panels — PF-50, PF-80 1 54173 $376
Jacket Side Panels — PF-110, PF-140 1 54192 $390
17 Bulk Head Fitting for Condensate Connection 1 54140 $21
18 Gasket for Bulk Head Fitting 1 54134 $12
19 Leg Leveler 4 5429 $5
20 Hook Bolt 2 5451 $2
21 Convenience Outlet 1 54136 $5
22 Hex. Nut, #8-32 with Lockwasher 4 51573 $1
Control Module, 852MN Kit — PF-50 Revision 0 1 54265 $464
Control Module, 852MN Kit — PF-80 Revision 0 1 54266 $454
Control Module, 852MN Kit — PF-110 Revision 0 1 54267 $481
23 Control Module, 852MN Kit — PF-140 Revision 0 1 54268 $499
Control Module, 852MN Kit — PF-50 Revision 1 & 2 1 54282 $246
Control Module, 852MN Kit — PF-80 Revision 1 & 2 1 54283 $246
Control Module, 852MN Kit — PF-110 Revision 1 & 2 1 54284 $246
Control Module, 852MN Kit — PF-140 Revision ! & 2 1 54285 $246
24 Switch, Round Toggle, 120 VAC 1 6049 $26
25 Vent / Air Inlet Adapter, 3" 1 54135 $46
26 Gasket, Vent Adapter, 3" 1 54133 $21
27 Screw, #10 x 5/8" Long Phil. Pan Head Type A Zinc 6 5507 $1
28 Condensate Receiver Kit 1 54205 $105
29 Condensate Neutralizer Kit 1 54204 $70
- Wiring Harness, Power (Right Terminal Block) 1 PF7002 $54
- Wiring Harness, Control (Left Terminal Block) 1 PF7003 $105
- Wiring Harness, Blower 1 PF7005 $50
- Wiring Harness, Ground Wire 1 PF7009 $8
- Push-on Terminal Block (for Field Wiring Connections) 2 5450 $11
- Ignition Cable 1 54115 $16
- Relief Valve 1 50664 $13
- Flue Sensor, 12kOhm Tasseron TSDZ0B1 1 54111 $31
- Supply Sensor/Switch, 12kOhm Tasseron Kit 1 54299 $64
- Return Sensor, 12kOhm Tasseron TSDOOBS 1 54418 $31
- Outdoor Sensor, 12kOhm Tasseron TSA00B4 1 54112 $35
- DHW Sensor, 12kOhm Tasseron TSK10BH 1 54157 $42
- System Sensor, 12kOhm Tasseron TSAOOBC 1 54156 $42

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011




P: PUREFIRE®

PF-50, PF-80, PF-110 & PF-140

All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-50, PF-80, PF-110 & PF-140

6 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



) PUREFIRE®

» PF-50, PF-80, PF-110 & PF-140

' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.
All prices quoted are in U.S. dollars.

All prices subject to change without notice.

All prices F.O.B. Bally, PA

PF-50, PF-80, PF-110 & PF-140

Description Quan_tlty Stock Tra!de
Required Code Price
Burner — PF-50 1 54174 $241
49 Burner — PF-80 1 54175 $276
Burner — PF-110 1 54176 $310
Burner — PF-140 1 54177 $344
44 Combustion Chamber Cover Plate, includes items #45-#47 1 54183 $74
45 Gasket, Glass Rope 1 54188 $2/ft
46 Gasket, Rubber 1 54187 $11
47 Insulation, Combustion Chamber Cover Plate 1 54184 $19
50 Insulation, Target Wall 1 54185 $33
Heat Exchanger — PF-50 1 5410 $1160
51 Heat Exchanger — PF-80 1 5411 $1374
Heat Exchanger — PF-110 1 5412 $1814
Heat Exchanger — PF-140 1 5413 $2239
52 Gasket, Blower to Channel 1 54122 $12
Blower — PF-50, PF-80 1 54189 $290
53 Blower — PF-110 1 54190 $348
Blower — PF-140 1 54191 $382
55 Blower Adapter Plate 1 5421 $4
Swirl Plate — PF-50, Blue 1 54144 $37
57 Swirl Plate — PF-80, Black 1 54143 $37
Swirl Plate — PF-110, White 1 54145 $37
Swirl Plate — PF-140, Red 1 54146 $37
Gas Valve — PF-50, w/ Mtg. Flange, Swirl Plate & Screws 1 54178 $258
58 Gas Valve — PF-80, w/ Mtg. Flange, Swirl Plate & Screws 1 54179 $251
Gas Valve — PF-110, w/ Mtg. Flange, Swirl Plate & Screws 1 54180 $295
Gas Valve — PF-140, w/ Mtg. Flange, Swirl Plate & Screws 1 54181 $328
Vent Termination Kits
- 3"SS Vent Termination Kit 1 54161 $149
- 4"SS Vent Termination Kit 1 91401 $459
- CPVC Vent/Inlet Adapter 1 54135 $46
- Poly-Propylene Vent/Inlet Adapter 1 54155 $46
- 3" Vent Perf Stainless Steel Screen 1 54150 $5
- PVC 3" DWV P400-030 Tee 1 54151 $33
- PVC 3" DWV P100-030 Coupling 1 54152 $33
- PVC 3" Concentric Termination 1 91403 $129
Poly-Propylene Venting
_ 80/125mm White Concentric Sidewall Vent kit — Includes Concentric Vent Termination, _ 54396 $198
Outer Wall Bracket, Inner Wall Bracket with Securing Tab and Screws
_ 100/150mm White Concentric Sidewall Vent kit — Includes Concentric Vent Termination, _ 54397 $268
Outer Wall Bracket, Inner Wall Bracket with Securing Tab and Screws
- 80/125mm White, Black Concentric Vertical Termination - 54398 $232
- 100/150mm White, Black Concentric Vertical Termination - 54399 $339
- 80/100 White Concentric 90 Degree Elbow with Locking Band - 54085 $96
- 100/150 White Concentric 90 Degree Elbow with Locking Band - 54435 $118
_ Concentric Adapter Kit — 3" PVC to 80/125mm — Kit Includes 2 PVC to PP Adapters, _ 54296 $160
1 Two-pipe Adapter and (1) 80 x 500mm PP Pipe Length
_ Concentric Adapter Kit — 4" PVC to 100/150mm - Kit Includes 2 PVC to PP Adapters, _ 54297 $220
1 Two-pipe Adapter and (1) 100 x 500mm PP Pipe Length
Miscellaneous
- Large Clamp Hose 1 54138 $13
- Small Clamp Hose 1 54139 $13
- Condensate Neutralizer 1 54121 $66
- Electric Panel MNT Receptacle 1 54136 $5
- Burner Mounting Plate Kit PUREFIRE 1 54128 $115
- Switch Condensate Float w/ Cap Switch 1 54137 $43
- Condensate Collector 1 54120 $66
- Wall Mounting Kit 1 5636 $64
— Gas Line Flex Kit w/ 1-1/2" NPT 1 54203 $60

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011




P PUREFIRE®

» PF-210 & PF-399

All repair parts orders - no minimum charges.
Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PeerlessBoilers.com

PF-210 & PF-399

8 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



) PUREFIRE®

[ ) PF-210 & PF-399
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-210 & PF-399

" Quantity Stock Trade
Description o s
Required Code Price
1 Panel, Jacket Front Door, with Ball Studs 1 54256 $171
2 Lens for Jacket Front Door 1 54167 $58
3 Display Module, Argus 852RC 1 54281 $177
4 Gasket for Display Bracket 1 54153 $12
5 Bracket for Display Module 1 PF2007-1 $10
6 Hex Nut, #6-32 with Lockwasher 2 51553 $1
7 Screw, #6-32 x 1/2" LG Phillips Head 2 5449 $1
8 Flexible Gas Line — 1/2" — PF-210 1 54261 $40
Flexible Gas Line — 3/4" — PF-399 1 54262 $51
9 Gasket for Gas Line 1 54142 $7
10 Manual Shut-off Valve, 3/4" NPT 1 54210 $15
11 Screw, #10 x 1/2" LG Hex. Hd. 2 99992 $1
12 Jacket, Lower Front Panel 1 PF6051 $59
13 Jacket Side Panel — PF-210 1 54244 $538
Jacket Side Panel — PF-399 1 54245 $590
14 Bulk Head Fitting for Condensate Hose 1 54140 $21
15 Gasket for Bulk Head Fitting 1 54134 $12
16 Leg Leveler 4 5429 $5
17 Coupling, 1" NPT Brass — PF-210 2 5534 $12
Coupling, 1-1/2" NPT Brass — PF-399 2 5551 $26
18 Nipple, 1" NPT x 14" LG Brass — PF-210 2 5557 $79
Nipple, 1-1/2" NPT x 14" LG Brass — PF-399 2 5550 $106
19 Elbow, 1" NPT Brass — PF-210 1 5558 $20
Elbow, 1-1/2" NPT Brass — PF-399 1 5553 $38
20 Tee, 1" NPT Brass — PF-210 1 5537 $20
Tee, 1-1/2" NPT Brass — PF-399 1 5554 $54
21 Nipple, 1" NPT x 3" Brass — PF-210 2 5559 $18
Nipple, 1-1/2" NPT x 3" Brass — PF-399 2 5552 $28
22 Reducing Bushing, 1" x 3/4" NPT Brass — PF-210 1 5539 $6
Reducing Bushing, 1-1/2" x 3/4" NPT Brass — PF-399 1 5556 $26
23 Shut-off Valve, 3/4" NPT Brass 1 50764 $12
24 Nipple, 3/4" NPT x 16" LG Brass 1 5560 $45
25 Convenience Outlet 1 54136 $5
26 Hex. Nut, #8-32 with Lockwasher 4 51573 $1
27 Control Module, 852MN — PF-210 1 54286 $246
Control Module, 852MN — PF-399 1 54287 $246
28 Switch, Round Toggle, 120 VAC 1 6049 $12
29 Vent / Air Inlet Adapter, 3" — PF-210 1 54200 $30
Vent / Air Inlet Adapter, 4" — PF-399 1 54201 $36
30 Gasket, Vent Adapter, 3" — PF-210 1 54216 $5
Gasket, Vent Adapter, 4" — PF-399 1 54217 $5
31 Screw, #10 x 3/4" LG Phillips Pan Hd. Type A Zinc 6 5611 $1
a2 Vent Stub, 3" — PF-210 1 54221 $70
Vent Stub, 4" — PF-399 1 54220 $103
33 Heat Exchanger Outlet Collar, 3" — PF-210 1 5531 $70
Heat Exchanger Outlet Collar, 4" — PF-399 1 5532 $94
34 Condensate Neutralizer Assembly 1 54204 $70
35 Condensate Receiver Assembly 1 54259 $78
36 Blocked Vent Switch includes items 37 & 38 1 54260 $28
37 3/16" ID Tubing x 12" Long 1 5563 $2
38 90° Barbed Elbow Adapter Fitting 1 5564 $2
- Wiring Harness, Power (Right Terminal Block) 1 PF7022 $100
- Wiring Harness, Control (Left Terminal Block) 1 PF7021 $100
- Wiring Harness, Gas Valve & Flame Sensor 1 PF7023 $39
— Wiring Harness, Ground Wire 1 PF7024 $4
- Push-on Terminal Block (Field Wiring) 10-pole 2 5450 $11
- Push-on Terminal Block (Field Wiring) 6-pole 2 5547 $6
- Ignition Cable 1 54115 $16
- Relief Valve 1 50664 $19
— Flue Sensor, 12kOhm Tasseron TSDZ0BO0 1 54209 $22
- Flue Sensor Grommet 1 54291 $6
- Supply Sensor/Switch, 12kOhm Tasseron Kit 1 54299 $64
— Return Sensor, 12kOhm Tasseron TSD0O0BS 1 54418 $31
— Qutdoor Sensor, 12kOhm Tasseron TSA00B4 1 54112 $35

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011




P PUREFIRE®

[ ) PF-210 & PF-399
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-210 & PF-399

10 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



PeerlessBoilers.com

PF-210 & PF-399

PF-210 & PF-399

Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.

All prices F.O.B. Bally, PA

PUREFIRE®

All repair parts orders - no minimum charges.

Describti Quantity Stock Trade
escription R a s
equired Code Price
1 Ignitor, with Gasket 1 54246 $59
2 Sensor, with Gasket 1 54247 $34
Premix Channel — PF-210 1 54249 $84
5 Premix Channel — PF-399 1 54250 $126
6 Gasket, Channel to Burner 1 54186 $18
. Burner — PF-210 1 54263 $374
Burner — PF-399 1 54264 $448
9 Combustion Chamber Cover Plate, includes items #10-#12 1 54248 $183
10 Gasket, Glass Rope 1 54188 $2
11 Gasket, Rubber 1 54187 $11
12 Insulation, Combustion Chamber Cover Plate 1 54255 $22
15 Insulation, Target Wall 1 54185 $33
16 Heat Exchanger — PF-210 1 5529 $2445
Heat Exchanger — PF-399 1 5530 $5061
17 Gasket, Blower to Channel 1 54122 $12
18 Blower — PF-210 1 54258 $526
Blower — PF-399 1 54257 $523
20 Blower Adapter Plate — PF-210 1 5421 $4
Blower Adapter Plate — PF-399 1 5610 $4
- Swirl Plate — PF-210, Grey 1 54251 $37
Swirl Plate — PF-399, Black 1 54252 $37
o3 Gas Valve — PF-210, includes item #22 1 54253 $363
Gas Valve — PF-399, includes item #22 1 54254 $467
PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011 11




P PUREFIRE®

D PF-850 & PF-1000
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-850 & PF-1000 — Heat Exchanger

12 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



PeerlessBoilers.com

PF-850 & PF-1000 — Heat Exchanger

PUREFIRE®

PF-850 & PF-1000

All repair parts orders - no minimum charges.

Please order with code number.
All prices quoted are in U.S. dollars.

All prices subject to change without notice.

All prices F.O.B. Bally, PA

Descripti Quantity Stock Trade
escription Requi -
equired Code Price
1 Heat Exchanger — PF-850 1 5651 $13,744
Heat Exchanger — PF-1000 1 5652 $14,896
2 Burner Mounting Plate 2 54430 $168
3 Flame Sensor Electrode w/Gaskets 2 54432 $32
4 Ignition Electrode w/Gaskets 2 54431 $34
5 Burner Element 2 54433 $723
6 Flapper Assembly 2 54434 $868
7 Supply/Return Sensor — 1/8" NPT 12 KW 4 54438 $24
8 High Limit Switch — 1/4" NPT 2 54419 $24
9 Header Supply Sensor — 1/4" NPT 1 54418 $31
10 Hex. Flange Nut M6 Fine Thread 12 NIA -
11 Screw M5-0.80 x 16 mm Zinc Plated 10 NIA -
12 Burner Gasket 2 54467 $24
13 Screw M4 x 8 mm Zinc Plated 4 NIA -
14 Flue Temperature Sensor 1 54111 $31
15 Thermal Fuse 2 54466 $29
PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011 13




) PUREFIRE®

[ ) PF-850 & PF-1000
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-850 & PF-1000 — Blower/Gas Train

14 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



PF-850 & PF-1000 — Blower/Gas Train

PeerlessBoilers.com

PUREFIRE®

PF-850 & PF-1000

All repair parts orders - no minimum charges.
Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

Describti Quantity Stock Trade
escription Requi s
equired Code Price
1 Blower 2 54428 $618
2 3/4" NPT Flanged Elbow 2 5543 $33
3 Gas Valve GB-057 2 54429 $368
4 1" NPT x 18" Flexible Gas Hose 2 54439 $76
5 1" NPT Gas Shutoff Valve 2 51703 $56
6 Low Gas Pressure Switch 1 50700 $131
7 High Gas Pressure Switch 1 50701 $131
8 3" Flexible Air Inlet Hose 7.5 ft 54444 $6
9 4" Hose Clamp 4 54443 $4
10 Socket Head Cap Screw M5-0.80 x 12 mm 6 5415 $2
11 Hex Head Cap Screw M5-0.80 x 12 mm 2 5688 $2
12 1/8" ID Reference Tube 5 ft 1052 $3
13 1/8" Hose Tee - 6159 $2

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011

15



P PUREFIRE®

D PF-850 & PF-1000
All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

L=l

PF-850 & PF-1000 — Jacket

16 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



PeerlessBoilers.com

PF-850 & PF-1000 — Jacket

PUREFIRE®

PF-850 & PF-1000

All repair parts orders - no minimum charges.
Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

Describti Quantity Stock Trade
escription Requi o
equired Code Price
1 Heat Exchanger Support Panel — Front 1 PF2016 $444
2 Heat Exchanger Support Panel — Rear 1 PF2017 $444
3 Heat Exchanger Support Rails — PF-850 4 PF2018 $32
Heat Exchanger Support Rails — PF-1000 4 PF-2018-1 $34
4 Blower Cabinet Frame Assembly 1 PF2027 $440
5 Blower Cabinet Support Rails 2 PF2026 $28
6 Electrical Terminal Enclosure — PF-850 1 PF2029 $111
Electrical Terminal Enclosure — PF-1000 1 PF2029-1 $116
2 Terminal Enclosure Cover — PF-850 1 PF2030 $38
Terminal Enclosure Cover — PF-1000 1 PF2030-1 $42
8 Thermal Fuse Cover 2 PF2031 $22
9 Blower Cabinet Floor Pan 1 PF2033 $122
10 Condensate System Tray — PF-850 1 PF5027 $135
Condensate System Tray — PF-1000 1 PF5027-1 $138
11 Air Inlet Plenum Assembly 1 PF5044 $78
12 Blower Cabinet Top Panel 1 PF6067 $155
13 Side Heat Exchanger Access Panel — PF-850 2 PF6064 $234
Side Heat Exchanger Access Panel — PF-1000 2 PF6064-1 $299
14 Top Heat Exchanger Access Panel — PF-850 1 PF6066 $143
Top Heat Exchanger Access Panel — PF-1000 1 PF6066-1 $146
15 Blower Cabinet Right Side Panel 1 PF-6067 $155
16 Blower Cabinet Left side Panel 1 PF-6067-1 $168
17 Air Inlet Screen 1 54447 $8
18 Ball Studs 30 5433 $2
19 Front Cover Panel 1 54292 $182
20 Control Lens 1 54127 $60
21 Leveling Legs 6 5659 $7
22 Tubing Connector 1 50770 $1
23 1/4" Rubber Grommet 1 6158 $1

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011

17



P PUREFIRE®

[ ) PF-850 & PF-1000
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-850 & PF-1000 — Controls/Wiring

18 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



) PUREFIRE®

[ ) PF-850 & PF-1000
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-850 & PF-1000 — Controls/Wiring

Description I(‘)uan_tity Stock Tra!de
equired Code Price

1 Integrated Primary Controls 2 54440 $242
2 User Interface Pixel Display 1 54441 $321
3 Installer Interface LED Display 2 54445 $194
4 Interface Module 1 54442 $189
5 Pump Relay Module 1 54437 $118
6 Terminal Block — 10 Pole 2 5450 $11

7 Terminal Block — 6 Pole 2 5547 $6

8 Ignition Cable 2 54115 $16
9 Harness J5M Master Control Sensors (not shown) 1 54448 $84
10 Harness J5D Dependent Control Sensor (not shown) 1 54449 $30
11 Harness J15M Master Flapper/Limits (not shown) 1 54450 $56
12 Harness J15D Dependent Flapper/Limits (not shown) 1 54451 $19
13 Harness J2M Master Control/Blower Power (not shown) 1 54452 $49
14 Harness J2D Dependent Control/Blower Power (not shown) 1 54453 $29
15 Harness J13M Master Gas Valve/Flame Sensor/High Limit (not shown) 1 54454 $82
16 Harness J13D Dependent Gas Valve/Flame Sensor/High Limit (not shown) 1 54455 $82
17 Harness J7M Master Gen Circulator (not shown) 1 54456 $10
18 Harness J6M Master CH/DHW Circulator (not shown) 1 54457 $18
19 Harness Line Voltage Terminal Strip/Power Switch/Relay Module (not shown) 1 54458 $86
20 Harness J9 Blower Control (not shown) 2 54459 $21

21 Harness Master Thermal Fuse w/Conduit (not shown) 1 54460 $18
22 Harness Dependent Thermal Fuse w/Conduit (not shown) 1 54461 $28
23 Harness Ground 2 PF7009 $8

24 Rocker Switch 2 6049 $12

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011




P:

PeerlessBoilers.com

PF-850 & PF-1000 — Condensate System

PUREFIRE®

PF-850 & PF-1000

All repair parts orders - no minimum charges.
Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

20

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011



PeerlessBoilers.com

PF-850 & PF-1000 — Condensate System

PUREFIRE®

PF-850 & PF-1000

All repair parts orders - no minimum charges.

Please order with code number.
All prices quoted are in U.S. dollars.

All prices subject to change without notice.

All prices F.O.B. Bally, PA

Describti Quantity Stock Trade
escription Requi s
equired Code Price
1 Condensate Receiver Container 1 54120 $66
2 Condensate Neutralizer Container 1 54121 $66
3 Condensate Blocked Drain Switch 1 54137 $43
4 1" OD x 3/4" ID PVC Condensate Hose 3in 5417 $1\in
5 5/8" OD x 1/2" ID PVC Condensate Hose 4 ft 5416 $1\in
6 5/8" x 5/8" x 1/4" Hose Barb Tee 1 5665 $2
7 Blocked Vent Pressure Switch 1 54208 $12
8 1/4" 1D PVC Tubing 2 ft 5563 $2
PF-850 & PF-1000 — Miscellaneous Parts — Loose
Description Quan_tity Stock Tra!de
Required Code Price
; Relief Valve — PF-850 1 51300 $123
Relief Valve — PF-1000 51301 $210
2 Temperature/Pressure Gauge 1 51324 $12
3 Stainless Steel Boot Tee w/ Test Port 1 5680 $211
4 Stainless Steel Drain Fitting 1 5681 $84
5 Stainless Steel - PVC Adapter 1 5682 $55
6 6" Diameter Exhaust/Air Intake Screen 3 54446 $8
7 Stacking Spacer 6 1457 $6
8 Outdoor Sensor 1 54112 $35
9 DHW Tank Sensor (Optional) 54157 $42
10 Condensate Neutralizing Media (1 Ib bag) 2 54159 $17

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective December 19, 2011

21




